ECE 302-003 Homework #12 Solution Fall 2023

Question 118:

ł

....

$$\begin{split} \bigotimes_{a} \forall U_{a} f_{0} m \left[\frac{q}{2} \Delta Y \right] & X = cos(\Theta) \quad Y = sin(\Theta) \\ d' \quad E[Y] = E[sin(\Theta)cos(\Theta)] = \int_{0}^{2\pi} sin(\Theta) \frac{1}{2\pi} d\Theta = \frac{1}{2\pi} (-cos\Theta) \int_{0}^{2\pi} = 0 \\ b' \quad \bar{e}[xY] = E[sin(\Theta)cos(\Theta)] = \int_{0}^{2\pi} \frac{1}{2\pi} sin\Theta cos\Theta d\Theta \qquad U = sin\Theta \quad dU = cos\Theta d\Theta \\ &= \frac{1}{2\pi} \frac{1}{2} sin^{2}\Theta/_{0}^{2\pi} = 0 \\ c' \quad h(\pi) = E[Y|X = \pi] \\ & P_{Y}[X = \pi(Y|X = \pi)] = \int_{0}^{2\pi} sin(\cos^{-1}(\pi)) \int_{0}^{2\pi} \frac{1}{2\pi} sin(\cos^{-1}(\pi)) \int_{0}^{2\pi} \frac{1}$$

Question 120:

$$\begin{array}{l} \chi \ \& \ Y \ independent \implies f_{xy}(x,y) = f_x(x)f_y(y) \implies F_{xy}(x,y) = F_x(x)F_y(y) \\ a \colon P(a < \chi \leq b, \ Y > J) = (F_x(b) - F_x(a))(1 - F_y(d)) \\ b \colon P(a < \chi \leq b, \ < \leq Y < J) = (F_x(b) - F_x(a))(F_y(d) - P(Y = J) - F_y(c) + P(Y = c)) \\ c \colon P(|X| < a, \ c \leq Y \leq J) = (F_x(a) - P(X = a) - F_x(-a))(F_y(d) - F_y(c) + P(Y = c)) \end{array}$$

....

Question 121:

$$X \sim N(0,1) \qquad Y \sim Uniform(0,3) \qquad X \ &Y \ independent$$

$$E[X^{2}e^{Y}] = \int_{-\infty}^{\infty} \int_{0}^{3} x^{2} e^{y} \frac{1}{\sqrt{2\pi}} e^{-\frac{2x^{2}}{2}} \frac{1}{3} dy dx$$

$$= \left[\int_{-\infty}^{\infty} x^{2} \frac{1}{\sqrt{2\pi}} e^{-\frac{2x^{2}}{2}} dx\right] \left[\int_{0}^{3} \frac{1}{3} e^{y} dy\right]$$

$$E[X^{2}] = V_{nr}(X) + (E[X])^{2} = 1$$

$$= \int_{0}^{3} \frac{1}{3} e^{y} dy = \frac{1}{3} e^{y} \Big|_{0}^{3} = \frac{1}{3} (e^{3} - 1)$$

Question 122:

$$d: f_{x}(x) = \begin{cases} \frac{1}{3} & \lambda = -\frac{1}{2} \\ 0 & \omega \end{cases} \qquad f_{y}(y) = \begin{cases} \frac{1}{3} & y = -\frac{1}{2} \\ 0 & \omega \end{cases}$$

$$f_{xy}(x,y) \neq f_{x}(x) f_{y}(y) \Rightarrow X, Y \quad \text{not independent}$$

$$l: f_{xy}(x,y) = f_{x}(x) f_{y}(y) \Rightarrow X, Y \quad \text{independent}$$

$$c: \chi = Y \Rightarrow X, Y \quad \text{not independent}$$

Question 123:

$$\begin{aligned} \mathbf{x}^{c} = E[XY] = (-1)(-1)\frac{1}{6} + (-1)(0)\frac{1}{6} + (0)(1)\frac{1}{6} + (1)(-1)\frac{1}{6} + (1)(0)\frac{1}{6} \\ &= \frac{1}{6} - \frac{1}{6} = 0 \\ Cov(X, v) = E[(X - E[X])(Y - E[v])] = E[(X - 0)(Y - 0)] = E[XY] = 0 \\ nncurrelated, otthograph, independent \\ \mathbf{b}^{c} = E[XY] = \frac{1}{4}[(-1)(-1) + (-1)(0) + (-1)(1) + (0)(-1) + (0)(0) + (0)(1) + (1)(0) + (1)(0) + (1)(1)(1)) \\ &= \frac{1}{6}[(1 - 1 - 1 + 1)] = 0 \\ Cv(X, Y) = E[XY] = 0 \\ nncorrelated, orthogonal, independent \\ C^{c} = E[XY] = \frac{1}{3}[(-1)(-1) + (0)(0) + (1)(1)] = \frac{2}{3} \\ Car(X, Y) = E[X, Y] = \frac{2}{3} \\ Car(X, Y) = E[X, Y] = \frac{2}{3} \\ R_{X} = 0 \end{aligned}$$

٠

Question 124:

$$\begin{aligned} f_{XY}(x,y) &= k(x|y) \quad f_{y} \quad 0 \leq x \leq i, \ 0 \leq y \leq i \\ &\int_{0}^{1} \int_{0}^{1} k(x+y) \, Ja \, d_{y} = i \\ &K \int_{0}^{1} \left[\frac{1}{2} x^{2} + x y \right]_{0}^{1} \, d_{y} = k \int_{0}^{1} \left[\frac{1}{2} + y \right] \, J_{y} = k \left[\frac{1}{2} y + \frac{1}{2} y^{2} \right]_{0}^{1} = k \left[\frac{1}{2} + \frac{1}{2} \right] = k \\ &= i \\ &E[xY] = \int_{0}^{1} \int_{y}^{1} xy (x+y) \, Jx \, d_{y} = \int_{0}^{1} \left[(x^{2}y + xy^{2}) - Jx \, d_{y} \right] \\ &= \int_{0}^{1} \left[\frac{1}{3} x^{3}y + \frac{1}{2} x^{3}y^{2} \right]_{0}^{1} \, d_{y} = \int_{0}^{1} \left[(\frac{1}{3} y + \frac{1}{2} y^{2}) \right] \, d_{y} \\ &= \int_{0}^{1} \left[\frac{1}{3} x^{3}y + \frac{1}{2} x^{3}y^{2} \right]_{0}^{1} \, d_{y} = \int_{0}^{1} \left[(\frac{1}{3} + \frac{1}{2} y^{2}) \right] \, d_{y} \\ &= \left[\frac{1}{6} y^{2} + \frac{1}{6} y^{3} \right]_{0}^{1} = \frac{1}{6} + \frac{1}{6} = \frac{1}{3} \\ &E[x] = \int_{0}^{1} \int_{0}^{1} (x^{4} + xy) \, Jx \, d_{y} = \int_{0}^{1} \left[\frac{1}{3} + \frac{1}{2} y \right] \, d_{y} = \frac{1}{3} + \frac{1}{7} = \frac{7}{12} \\ &E[Y] = \int_{0}^{1} \int_{0}^{1} (xy + ay^{2}) \, Jx \, d_{y} = \int_{0}^{1} \left[\frac{1}{2} y + \frac{1}{3} \right] \, d_{y} = \frac{1}{7} + \frac{1}{12} = \frac{7}{12} \\ &Cw(x, y) = E[(x - \frac{7}{12})(y - \frac{7}{12})] = E[xy] - \left(\frac{7}{12}\right)^{1} = \frac{1}{3} - \frac{79}{147} = \frac{488 - 99}{147} = \frac{-1}{147} \end{aligned}$$

not independent, not orthogonal, correlated

Question 125:

$$Y = X + N$$
, where mean of $X : Mx = 0$
variance of $X : T_X^2$
mean of $N : MN = 0$
variance of $N \cdot T_N^2$

$$(A) \quad P_{XY} = \frac{Cov(X,Y)}{\sigma_{X}\sigma_{Y}}$$

$$C_{ov}(X,Y) = E(XY) - E(X)E(Y)$$

$$= E(X(X+N)) - E(X)E(X+N)$$

$$= E(X^{2}) + E(X)E(N)^{2} - E(X)(E(X) + E(N))$$

$$= Var(X) + (E(X))^{2} = \sigma_{X}^{2} + H$$

$$\sigma_{Y}^{2} = E(Y^{2}) - (E(Y))^{2} = E(X^{2}) + 2E(X)E(N) + E(N^{2})$$

$$= \sigma_{X}^{2} + \sigma_{N}^{2}$$

Hence,

$$f_{xy} = \frac{\sigma_x^2}{\sigma_x \sqrt{\sigma_x^2 + \sigma_y^2}} = \frac{\sigma_x}{\sqrt{\sigma_x^2 + \sigma_y^2}}$$

(b)
Let
$$f(a) = E[(X - aY)^{+}] = E[(X - a(X + N))^{+}]$$

 $= E[((1 - a)X - aN)^{+}] = E[(1 - a)X^{+} - 2a(1 - a)XN + a^{+}N^{+}]$
 $= (1 - a)^{+}E[X^{+}] - 2a(1 - a)E[X]E[N] + a^{+}E[N^{+}]$
 $= (1 - a)^{+}G_{X}^{+} + a^{+}G_{N}^{+}$

$$\frac{d}{da}f(a) = -2(1-a)\sigma_{x}^{2} + 2a\sigma_{y}^{2} \stackrel{set}{=} 0$$

$$\Rightarrow (1-a)\sigma_{x}^{2} = a\sigma_{y}^{2} \quad \Rightarrow \quad a(\sigma_{x}^{2} + \sigma_{y}^{2}) = \sigma_{x}^{2}$$

$$\Rightarrow \quad A = \frac{\sigma_{x}^{2}}{\sigma_{x}^{2} + \sigma_{y}^{2}} \quad \#$$

.

$$(c) f\left(\frac{\sigma_{\chi^{2}}}{\sigma_{\chi^{2}}+\sigma_{N}^{2}}\right) = \left(\frac{\sigma_{N^{2}}}{\sigma_{\chi^{2}}+\sigma_{N}^{2}}\right)^{2}\sigma_{\chi^{2}} + \left(\frac{\sigma_{\chi^{2}}}{\sigma_{\chi^{2}}+\sigma_{N}^{2}}\right)^{2}\sigma_{N}^{2}$$
$$= \frac{\sigma_{N}^{4}\sigma_{\chi^{2}}}{(\sigma_{\chi^{2}}+\sigma_{N}^{2})^{2}}$$
$$= \frac{\sigma_{\chi^{2}}\sigma_{N}^{2}(\sigma_{N^{2}}+\sigma_{N}^{2})^{2}}{(\sigma_{\chi^{2}}+\sigma_{N}^{2})^{2}}$$
$$= \frac{\sigma_{\chi^{2}}\sigma_{N}^{2}}{\sigma_{\chi^{2}}+\sigma_{N}^{2}}$$

Question 126:

$$f_{xy}(x_y) = (x_{ty}) \quad o \leq x \leq i, \quad o \leq y \leq i$$

$$d: f_{Y|x}(y|x) = \frac{f_{ty}(x_yy)}{f_x(x)}$$

$$f_x(x) = \int_0^1 f_{xy}(x_yy) dy = \int_0^1 (x_{ty}) dy = [x_y + \frac{1}{2}y^2]_0^1 = x + \frac{1}{2}$$

$$f_{Y|x}(y|x) = \frac{x_{ty}}{x + \frac{1}{2}} \quad o \leq x \leq i, \quad o \leq y \leq i$$

$$b \quad P(Y > X|x) = P(Y > x) = \int_{X}^{t} \frac{\lambda + x}{\lambda + \frac{1}{2}} dy = \frac{x_{1} + \frac{1}{2}x^{2}}{\lambda + \frac{1}{2}} \int_{X}^{t} = \frac{1}{\lambda + \frac{1}{2}} \left[(x + \frac{1}{2}) - (x^{2} + \frac{1}{2}x^{2}) \right]$$
$$= \begin{cases} 1 - \frac{3}{2}x^{2}}{\lambda + \frac{1}{2}} & os x \le l \\ 0 & x < 0 \\ l & x > l \end{cases}$$

$$d: E[Y|(X=x)] = \int_{0}^{t} y \frac{x+y}{x+\frac{1}{2}} dy = \frac{1}{x+\frac{1}{2}} \left[\frac{1}{2}y^{2}x + \frac{1}{2}y^{3} \right]_{0}^{t} = \frac{\frac{1}{2}x+\frac{1}{2}}{x+\frac{1}{2}}$$

 $\begin{aligned} E_{X+rax}^{2} &= \sum_{p=0}^{r} \int_{0}^{r} \gamma (x+y) dx dy = \int_{0}^{r} \left[\frac{1}{2} x^{2} \gamma + x y^{2} \right]_{0}^{r} dx \\ &= \int_{0}^{r} \left(\frac{1}{2} \gamma + y^{2} \right) dy = \left[\frac{1}{2} \gamma^{2} + \frac{1}{3} \gamma^{3} \right]_{0}^{r} = \frac{1}{2} + \frac{1}{3} = \frac{7}{12} \\ E\left[E\left[\gamma / X \right] \right] &= \int_{0}^{r} h(x) f_{x} (x) dx = \int_{0}^{r} \frac{1}{2} \frac{x+\frac{1}{3}}{x+\frac{1}{2}} (x+\frac{1}{2}) dx \\ &= \int_{0}^{r} \left(\frac{1}{2} x + \frac{1}{3} \right) dx = \left[\frac{1}{2} x^{2} + \frac{1}{3} x \right]_{0}^{r} = \frac{1}{2} + \frac{1}{3} = \frac{7}{12} \end{aligned}$